
Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

KC 5/8/15

Kinney

KIT BILL OF MATERIALS CAN BE FOUND LISTED ON THE ‘KIT COMPONENTS’ 
PAGES IMMEDIATELY FOLLOWING CORRESPONDING PUMP PAGES.

ALL AVAILABLE SPARES FOR THIS SERIES CAN BE FOUND LISTED ON THE 
‘INDIVIDUAL SPARES’ PAGES AT THE END OF THIS SECTION.

KITS

FEATURED SPARES

VALVE KITS 
VALVE KITS INCLUDE VALVE BLOCK, PLATE, SPRINGS & SCREWS TO 
REPAIR THE DISCHARGE VALVE.
   
MODEL(S)   PART NUMBER
KC 5/8   805430
KC 15   805459

BEARING REPLACEMENT KITS  
BEARING REPLACEMENT KITS INCLUDE BEARINGS & BEARING RING SPACERS. 
   
MODEL(S)   PART NUMBER
ALL   809999

MINOR MAINTENANCE KITS  
MINOR MAINTENANCE KITS INCLUDE SHAFT SEALS, GASKETS, O-RINGS, 
SIGHT GLASS & OTHER COMPONENTS FOR MINOR REPAIR.
   
MODEL(S)   PART NUMBER
KC 5/8   80946400BM
KC 15   80946700BM

GASKETS 
MODEL(S) PART NUMBER
KC 5/8         (CYL. COVER) 802489
KC 15         (CYL. COVER) 807354
  

SHAFT SEALS 
MODEL(S) PART NUMBER
ALL                (MECHANICAL) 065046
KC 5/8   072061
KC 15   072062

SIGHT GLASSES 
MODEL(S) PART NUMBER
ALL   805684

VALVE BLOCKS 
MODEL(S) PART NUMBER
KC 5/8   801620
KC 15   802147

VALVE PLATES 
MODEL(S) PART NUMBER
KC 5/8   804221
KC 15   802146

RECOMMENDED OILS 
TYPE PART NUMBER
PLUS 100 (1L/1.06QT) PP100001
GENERAL PURPOSE OIL (EQU. TO LT)

PLUS 100 (20L/5.28GAL) PP100004
GENERAL PURPOSE OIL (EQU. TO LT) 

PLUS GOLD (1L/1.06QT) PPGOLD001
FULLY SYNTHETIC OIL

PLUS GOLD (20L/5.28GAL) PPGOLD004
FULLY SYNTHETIC OIL

KINNEY-1

KC SERIES



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

KC 5/8/15

KIT COMPONENTS

KINNEY-2

KC5/8 KC5/8 KC15 KC15 KC5-15

PART  
NUMBER

ITEM  
DESCRIPTION

DISCHARGE VALVE 
805430

MINOR 
80946400BM

DISCHARGE VALVE 
805459

MINOR 
80946700BM

BEARING 
809999

054133 BEARING 2
808170 DISC,CHECK 1 1
066311 DRAIN COCK,BRASS 1 1
805685 GASKET 1 2
802489 GASKET,CYLINDER COVER 1
807354 GASKET,CYLINDER COVER 1
808195 GASKET,KC15 1
071030 GASKET,KC5,KC8 1
808574 GASKET,KC5,KC8,KC15 2 1
050227 O'RING,BUNA,53.57 X 3.53 MM 2 2
805706 RING,BACKGROUND 1 1
805683 RING,HOUSING 1 1
064002 RING,RETAINING 1 1
806372 RING,SPACER 2
801578 SCREW,SHOULDER 2 2 2 2
053416 SCREW,SIGHT GLASS 4 4
065046 SEAL,MECHANICAL SHAFT 1 1
072061 SEAL,SHAFT 1
072062 SEAL,SHAFT,VITON 1
805684 SIGHT GLASS 1 1
804567 SPRING 2 2 2 2
801620 VALVE,BLOCK 1 1
802147 VALVE,BLOCK 1 1
802146 VALVE,PLATE 1 1
804221 VALVE,PLATE 1 1
071062 WASHER,SEAL 1
071083 WASHER,SEAL 1
071108 WASHER,SEAL 1

KinneyKC SERIES



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

KTC 55/60/90/112

KIT BILL OF MATERIALS CAN BE FOUND LISTED ON THE ‘KIT COMPONENTS’ 
PAGES IMMEDIATELY FOLLOWING CORRESPONDING PUMP PAGES.

ALL AVAILABLE SPARES FOR THIS SERIES CAN BE FOUND LISTED ON THE 
‘INDIVIDUAL SPARES’ PAGES AT THE END OF THIS SECTION.

KITS

FEATURED SPARES

PREVENTATIVE MAINTENANCE KITS
PREVENTATIVE MAINTENANCE KITS INCLUDE DISCHARGE VALVES, SHAFT 
SEALS, GASKETS, O-RINGS, SIGHT GLASS, BEARINGS, DRIVE BELTS & OTHER 
COMPONENTS FOR OVERHAULS OF WEAR PARTS. 
   
MODEL(S)   PART NUMBER
KTC 55/60   80947900BM
KTC 90/112  80948200BM

KINNEY-3

KinneyKTC SERIES

DISCHARGE VALVES 
MODEL(S) PART NUMBER
ALL   066161
  

BEARINGS SLEEVES 
MODEL(S) PART NUMBER
ALL   054111

BEARINGS 
MODEL(S) PART NUMBER
ALL   054104

SEPARATOR COVER GASKETS 
MODEL(S) PART NUMBER
KTC 55/60  806608
KTC 90/112  804911

DRIVE BELTS 
MODEL(S) PART NUMBER
KTC 55/60  051155
KTC 90/112  051123

RECOMMENDED OILS 
TYPE PART NUMBER
PLUS 100 (1L/1.06QT) PP100001
GENERAL PURPOSE OIL (EQU. TO LT)

PLUS 100 (20L/5.28GAL) PP100004
GENERAL PURPOSE OIL (EQU. TO LT) 

PLUS GOLD (1L/1.06QT) PPGOLD001
FULLY SYNTHETIC OIL

PLUS GOLD (20L/5.28GAL) PPGOLD004
FULLY SYNTHETIC OIL



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

KTC 55/60/90/112

KIT COMPONENTS

KINNEY-4

KTC55/60 KTC90/112

PART  
NUMBER

ITEM  
DESCRIPTION

MAINTENANCE 
80947900BM

MAINTENANCE 
80948200BM

054104 BEARING,BALL,SRFS,30MM 1 1
054111 BEARING,SLEEVE,1-1/4 2 2
805991 GASKET,BOT,SEP,PL 1
805952 GASKET,BOTTOM PLATE 1
804911 GASKET,SEP HSG COVER 1
806608 GASKET,SEP,COVER 1
804193 GASKET,SIGHT GLASS 1 1
805951 GASKET,TOP PLATE 1
805990 GASKET,TOP,SEP,PL 1
054097 LOCKNUT,BEARING,N-06 1 1
050227 O'RING,BUNA,53.57 X 3.53 MM 1
050232 O'RING,BUNA,69.4 X 3.53MM (2-232) 1 2
050233 O'RING,BUNA,72.5 X 3.5MM 1
050151 O'RING,BUNA,75.87 X 2.62 MM 1
050220 O'RING,VITON,34.52 X 3.53 MM 1 1
808495 O'RING,VITON,34.52 X 3.53 MM 1 1
802506 PIN,CENTER WALL,LOCKING 3 3
801262 RING,BEARING,BACKUP 1 1
064017 RING,RETAINING,1.31 EXT. 3
064036 RING,RETAINING,1.37,EXTENAL 1
801237 RING,SS,BACKUP 1 1
052506 SCREW,CAP,10-24 X .5LG,S/S 4 4
065112 SEAL,HEAD ASSY,BUNA 1-1/4 1 1
072065 SEAL,SHAFT,35X57.5X9,TYPE SB 1
072064 SEAL,SHAFT,LIP,1-3/8" ID 1
065100 SEAL,SHAFT,SEAT,CI,1-1/4 1 1
802505 SET SCREW,1/2-20 X .62 3 3
804192 SIGHT GLASS,OIL,PLEXIGLASS 1 1
051123 V-BELT, KT150 1
051155 V-BELT, KTC55/60 1
066161 VALVE,DISCHARGE,ASSY,K 1-1/2 1 1
066184 VALVE,INTERSTAGE,KINNEY 1 1

KinneyKTC SERIES



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

KT 150 C, KT 300/500/850 C/D

KIT BILL OF MATERIALS CAN BE FOUND LISTED ON THE ‘KIT COMPONENTS’ 
PAGES IMMEDIATELY FOLLOWING CORRESPONDING PUMP PAGES.

ALL AVAILABLE SPARES FOR THIS SERIES CAN BE FOUND LISTED ON THE 
‘INDIVIDUAL SPARES’ PAGES AT THE END OF THIS SECTION.

KITS

FEATURED SPARES

MINOR MAINTENANCE KITS 
MINOR MAINTENANCE KITS INCLUDE DISCHARGE VALVES, SHAFT SEALS, 
GASKETS, O-RINGS & OTHER COMPONENTS FOR LIGHT OVERHAUL.
   
MODEL(S)   PART NUMBER
KT 150 C   80942000BM
KT 300 C   80941700BM
KT 300 D   80942800BM
KT 500 C   80941400BM
KT 500 D   80943100BM
KT 850 C   80941100BM
KT 850 D   80943400BM

PREVENTATIVE MAINTENANCE KITS 
PREVENTATIVE MAINTENANCE KITS INCLUDE ALL COMPONENTS OF MINOR 
MAINTENANCE KITS PLUS SIGHT GLASS, BUSHINGS, BEARINGS, GASKETS & 
OTHER COMPONENTS FOR COMPLETE OVERHAUL.
   
MODEL(S)   PART NUMBER
KT 150 C   80942100BM
KT 300 C (60 HZ.)   80941800BM
KT 300 C (50 HZ.)   80970600BM
KT 300 D (60 HZ.)  80942900BM 
KT 300 D (50 HZ.)   80970700BM
KT 500 C   80941500BM
KT 500 D   80943200BM
KT 850 C   80941200BM
KT 850 D   80943500BM

KINNEY-5

SHAFT SEAL-HEAD ASSEMBLIES 
MODEL(S) PART NUMBER
KT 150 C  065112
KT 300 C  065114
KT 300 D 065215
KT 500 C  065116
KT 500 D  065214
KT 850 C  065118
KT 850 D 065213

DISCHARGE VALVES 
MODEL(S) PART NUMBER
ALL   066161

RECOMMENDED OILS 
TYPE PART NUMBER
PLUS 100 (1L/1.06QT) PP100001
GENERAL PURPOSE OIL (EQU. TO LT)

PLUS 100 (20L/5.28GAL) PP100004
GENERAL PURPOSE OIL (EQU. TO LT) 

PLUS GOLD (1L/1.06QT) PPGOLD001
FULLY SYNTHETIC OIL

PLUS GOLD (20L/5.28GAL) PPGOLD004
FULLY SYNTHETIC OIL

KinneyKT SERIES



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

KT 150 C, KT 300 C/D

KIT COMPONENTS

KINNEY-6

KT150C KT150C

PART  
NUMBER

ITEM  
DESCRIPTION

MINOR 
80942000BM

PREVENTATIVE 
80942100BM

054104 BEARING,BALL,SRFS,30MM 1
054111 BEARING,SLEEVE,1-1/4 2
808476 GASKET REPL,VALVE DECK COVER 1 1
807646 GASKET,CYL-SEP 1
807644 GASKET,SEPARATOR COVER 1 1
804193 GASKET,SIGHT GLASS 1
054097 LOCKNUT,BEARING,N-06 1
050227 O'RING,BUNA,53.57 X 3.53 MM 1
050232 O'RING,BUNA,69.4 X 3.53MM (2-232) 2 2
802506 PIN,CENTER WALL,LOCKING 3
801262 RING,BEARING,BACKUP 1 1
064036 RING,RETAINING,1.37,EXTENAL 1
801237 RING,SS,BACKUP 1 1
052469 SCREW,CAP,HEX HEAD,5/16-18 X .75" LG 12 12
065112 SEAL,HEAD ASSY,BUNA 1-1/4 1 1
065100 SEAL,SHAFT,SEAT,CI,1-1/4 1 1
802505 SET SCREW,1/2-20 X .62 3
804192 SIGHT GLASS,OIL,PLEXIGLASS 1
051123 V-BELT, KT150 1
066161 VALVE,DISCHARGE,ASSY,K 1-1/2 4 4

KinneyKT SERIES

KT300C KT300C (60 HZ) KT300C (50 HZ) KT300D KT300D (60 HZ) KT300D (50 HZ)

PART  
NUMBER

ITEM  
DESCRIPTION

MINOR 
80941700BM

PREVENTATIVE 
80941800BM

PREVENTATIVE 
80970600BM

MINOR 
80942800BM

PREVENTATIVE 
80942900BM

PREVENTATIVE 
80970700BM

065114 ASSY,SEAL HEAD,1-7/8",BUNA 1 1 1
065098 ASSY,SEAL SEAT,1-7/8",C.I. 1 1 1 1 1 1
054115 BEARING,BALL,SRFS,45MM 1 1 1 1
054110 BEARING,SLEEVE,1-7/8 2 2 2 2
807392 GASKET,CYL/SEP HSG 1 1 1 1
807636 GASKET,SEPARATOR COVER 1 1 1 1 1 1
804193 GASKET,SIGHT GLASS 1 1 1 1
808475 GASKET,VALVE DECK 1 1 1 1 1 1
054098 LOCKNUT, BEARING, N-09 1 1 1 1
050245 O'RING,BUNA,110.72 X 3.53 MM 2 2 2 2 2 2
050227 O'RING,BUNA,53.57 X 3.53 MM 1 1 1 1
802506 PIN,CENTER WALL,LOCKING 3 3 3 3
064032 RETAINING RING 2.00 EXTERNAL 1 1 1 1
803423 RING,BACK UP,FOR BEARING 1 1 1 1 1 1
803422 RING,BACK UP,FOR SHAFT SEAL 1 1 1 1 1 1
052469 SCREW,CAP,HEX HEAD,5/16-18 X .75" LG 21 21 21 21 21 21
065215 SEAL,HEAD ASSY,BUNA 1-7/8 1 1 1
802505 SET SCREW,1/2-20 X .62 3 3 3 3
804192 SIGHT GLASS,OIL,PLEXIGLASS 1 1 1 1
051122 V-BELT, KT300 1 1
051088 V-BELT, KT300, SPECIAL, 50HZ 1 1
066161 VALVE,DISCHARGE,ASSY,K 1-1/2 7 7 7 7 7 7



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

KT 500/850 C/D

KINNEY-7

KinneyKT SERIES

KIT COMPONENTS

KT500C KT500C KT500D KT500D

PART  
NUMBER

ITEM  
DESCRIPTION

MINOR 
80941400BM

PREVENTATIVE 
80941500BM

MINOR 
80943100BM

PREVENTATIVE 
80943200BM

802158 802158SS BACKUP 1 1 1
054105 BEARING,BALL,SRFS,50MM 1 1
054109 BEARING,SLEEVE,2-1/8 2 2
807554 GASKET 1 1
808474 GASKET REPL,VALVE DECK COVER 1 1 1 1
807415 GASKET,CYL-SEP 1
807547 GASKET,PLATE,BOTTOM 1
807416 GASKET,SEPARATOR COVER,S.H.COV 1 1 1 1
804193 GASKET,SIGHT GLASS 1 1
054099 LOCKNUT, BEARING, N-10 1 1
050245 O'RING,BUNA,110.72 X 3.53 MM 2 2 2 2
050227 O'RING,BUNA,53.57 X 3.53 MM 1 1
802506 PIN,CENTER WALL,LOCKING 5 5
802694 PIN,CENTERWALL LOCKING,T00500 5
064008 RETAINING RING 2.50 EXTERNAL 1 1
052469 SCREW,CAP,HEX HEAD,5/16-18 X .75" LG 24 24 24 24
065116 SEAL,HEAD ASSY,BUNA 2-1/8 1 1
065214 SEAL,HEAD ASSY,BUNA 2-1/8 1 1
065108 SEAL,SHAFT,SEAT,CI,2-1/8 1 1 1 1
802505 SET SCREW,1/2-20 X .62 5 5
804192 SIGHT GLASS,OIL,PLEXIGLASS 1 1
051120 V-BELT, KT500 1 1
066161 VALVE,DISCHARGE,ASSY,K 1-1/2 8 8 8 8

KT850C KT850C KT850D KT850D

PART  
NUMBER

ITEM  
DESCRIPTION

MINOR 
80941100BM

PREVENTATIVE 
80941200BM

MINOR 
80943400BM

PREVENTATIVE 
80943500BM

054107 BEARING,BALL,SRFS,55MM 1 1
054108 BEARING,SLEEVE,2-1/2 2 2
808473 GASKET REPL,VALVE DECK COVER 1 1 1 1
807561 GASKET,BOTTOM PLATE 1
807460 GASKET,CYLINDER,SEPARATOR 1
807559 GASKET,FLANGE 1 1
808391 GASKET,OIL PUMP,(O-RING) 1 1
807461 GASKET,SEPARATOR COVER,S.H.COV 1 1 1 1
804193 GASKET,SIGHT GLASS 1 1
054100 LOCKNUT, BEARING, N-11 1 1
050245 O'RING,BUNA,110.72 X 3.53 MM 2 2 2 2
802506 PIN,CENTER WALL,LOCKING 5
802694 PIN,CENTERWALL LOCKING,T00500 5 5
064035 RETAINING RING 2.75 EXTERNAL 1 1
802090 RING,SS,BACKUP 1 1 1
052469 SCREW,CAP,HEX HEAD,5/16-18 X .75" LG 24 24 24 24
065118 SEAL,HEAD ASSY,BUNA 2-1/2 1 1
065213 SEAL,HEAD ASSY,BUNA 2-1/2 1 1
065110 SEAL,SHAFT,SEAT,CI,2-1/2 1 1 1 1
802505 SET SCREW,1/2-20 X .62 5 5
804192 SIGHT GLASS,OIL,PLEXIGLASS 1 1
051153 V-BELT, KT850 1 1
066161 VALVE,DISCHARGE,ASSY,K 1-1/2 12 12 12 12



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

Shop Online @ PrecisionPlus.com!

KINNEY-8

Kinney

INDIVIDUAL SPARES

BEARINGS
054105      BEARING,BALL,SRFS,50MM  KT500C,KT500D
054107      BEARING,BALL,SRFS,55MM  KT850C,KT850D
054115      BEARING,BALL,SRFS,45MM  KT300C,KT300D
054133      BEARING  KC15

GASKETS
071030      GASKET,KC5,KC8  KC5,KC8
802489      GASKET,CYLINDER COVER  KC5,KC8
804911      GASKET,SEP HSG COVER  KTC90/112
805685      GASKET    KC5,KC8,KC15
805951      GASKET,TOP PLATE   KTC90/112
805952      GASKET,BOTTOM PLATE   KTC90/112
805990      GASKET,TOP,SEP,PL   KTC55/60
805991      GASKET,BOT,SEP,PL   KTC55/60
806608      GASKET,SEP,COVER   KTC55/60
807354      GASKET,CYLINDER COVER   KC15
807392      GASKET,CYL/SEP HSG   KT300D
807393      GASKET,PLATE,TOP   KT300C,KT300D
807415      GASKET,CYL-SEP   KT500C,KT500D
807417      GASKET,PLATE,TOP   KT500C,KT500D
807460      GASKET,CYLINDER,SEPARATOR  KT850D
807529      GASKET,PLATE,BOTTOM  KT300C,KT300D
807547      GASKET,PLATE,BOTTOM  KT500C,KT500D
807561      GASKET,BOTTOM PLATE  KT850D
807636      GASKET,SEPARATOR COVER  KT300C,KT300D
807646      GASKET,CYL-SEP   KT300C,KT300D
808195      GASKET,KC15   KC15
808574      GASKET,KC5,KC8,KC15   KC5,KC8,KC15

HARDWARE
052469      SCREW,CAP,HEX HEAD,5/16-18 X .75” LG  KT850C
052506      SCREW,CAP,10-24 X .5LG,S/S  KTC55/60,KTC90/112
053416      SCREW,SIGHT GLASS   KC5,KC8,KC15
071062      WASHER,SEAL   KC5,KC8
071083      WASHER,SEAL   KC15
071108      WASHER,SEAL   KC15
801578      SCREW,SHOULDER   KC5,KC8,KC15
802505      SET SCREW,1/2-20 X .62   KTC55/60,KTC90/112

KITS
065098      ASSY,SEAL SEAT,1-7/8”,C.I.    KT300C,KT300D
065114      ASSY,SEAL HEAD,1-7/8”,BUNA   KT300C
805430      KIT,DISCHARGE VALVE,KC5/8   KC5,KC8
805459      KIT,DISCHARGE VALVE,KC15   KC15
80941100BM     KIT,MAINTENANCE,MINOR,KT850C  KT850C
80941200BM     KIT,MAINT,PREVENTATIVE,KT850C   KT850C
80941400BM     KIT,MAINTENANCE,MINOR,KT500C   KT500C
80941500BM     KIT,MAINT,PREVENTATIVE,KT500C   KT500C
80941700BM     KIT,MAINTENANCE,MINOR,KT300C   KT300C
80941800BM     KIT,MAINT,PREVENTATIVE,KT300C   KT300C
80942000BM     KIT,MAINTENANCE,MINOR,KT150C   KT150C
80942100BM     KIT,MAINT,PREVENTATIVE,KT150C   KT150C
80942800BM     KIT,MAINTENANCE,MINOR,KT300D    KT300D
80942900BM     KIT,MAINT,PREVENTATIVE,KT300D   KT300D
80943100BM     KIT,MAINTENANCE,MINOR,KT500D   KT500D
80943200BM     KIT,MAINT,PREVENTATIVE,KT500D   KT500D
80943400BM     KIT,MAINTENANCE,MINOR,KT850D   KT850D
80943500BM     KIT,MAINT,PREVENTATIVE,KT850D   KT850D
80946400BM     KIT,MINOR MAINTENANCE   KC5,KC8
80946700BM     KIT,MINOR,MAINTANCE,KC-15   KC15
80947900BM     KIT,PREV.MAINT.KTC 55/60   KTC55/60
80948200BM     KIT,PREV.MAINT.KTC 90/112   KTC90/112
809999      KIT,BEARING,REPLACEMENT   KC5,KC8,KC15

MISC.
054097      LOCKNUT,BEARING,N-06   KTC55/60,KTC90/112
054099      LOCKNUT, BEARING, N-10   KT500C,KT500D
054100      LOCKNUT, BEARING, N-11   KT850C,KT850D
066311      DRAIN COCK,BRASS   KC5,KC8,KC15
802158      802158SS BACKUP   KT500C,KT500D
802506      PIN,CENTER WALL,LOCKING   KTC55/60,KTC90/112
802694      PIN,CENTERWALL LOCKING,T00500  KT500D,KT850C,KT850D
808170      DISC,CHECK    KC5,KC8,KC15



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

Shop Online @ PrecisionPlus.com!

INDIVIDUAL SPARES

KINNEY-9

Kinney

O-RINGS
050151      O’RING,BUNA,75.87 X 2.62 MM KTC90/112 
050220      O’RING,VITON,34.52 X 3.53 MM KTC55/60, KTC90/112
050227      O’RING,BUNA,53.57 X 3.53 MM  KC5,KC8
050232      O’RING,BUNA,69.4 X 3.53MM (2-232)  KT150C
050233      O’RING,BUNA,72.5 X 3.5MM  KTC 55/60
050245      O’RING,BUNA,110.72 X 3.53 MM  KT300C,KT300D,KT500C,KT500D,KT850C,KT850D
808495      O’RING,VITON,34.52 X 3.53 MM ALL

RINGS
064002      RING,RETAINING  KC5,KC8,KC15
064008      RETAINING RING 2.50 EXTERNAL  KT500C,KT500D
064017      RING,RETAINING,1.31 EXT. KTC55/60
064032      RETAINING RING 2.00 EXTERNAL  KT300D
064035      RETAINING RING 2.75 EXTERNAL  KT850C,KT850D
064036      RING,RETAINING,1.37,EXTENAL  KT150C,KTC90/112
801237      RING,SS,BACKUP   KT105C
801262      RING,BEARING,BACKUP  KT150C,KTC55/60,KTC90/112
802090      RING,SS,BACKUP   KT850C,KT850D
803422      RING,BACK UP,FOR SHAFT SEAL  KT300C
803423      RING,BACK UP,FOR BEARING  KT300C
805683      RING,HOUSING   KC5,KC8,KC15
805706      RING,BACKGROUND   KC5,KC8,KC15
806372      RING,SPACER   KC15

SEALS
065046      SEAL,MECHANICAL SHAFT  KC5,KC8,KC15
065100      SEAL,SHAFT,SEAT,CI,1-1/4  KT150C,KTC55/60
065108      SEAL,SHAFT,SEAT,CI,2-1/8 KT500C,KT500D
065110      SEAL,SHAFT,SEAT,CI,2-1/2  KT850C,KT850D
065112      SEAL,HEAD ASSY,BUNA 1-1/4  KTC55/60,KTC90/112
065116      SEAL,HEAD ASSY,BUNA 2-1/8  KT500C
065118      SEAL,HEAD ASSY,BUNA 2-1/2  KT850C
065213      SEAL,HEAD ASSY,BUNA 2-1/2  KT850D
065214      SEAL,HEAD ASSY,BUNA 2-1/8  KT500D
065215      SEAL,HEAD ASSY,BUNA 1-7/8  KT300D
072061      SEAL,SHAFT   KC5,KC8
072062      SEAL,SHAFT,VITON   KC15
072064      SEAL,SHAFT,LIP,1-3/8” ID  KTC55/60
072065      SEAL,SHAFT,35X57.5X9,TYPE SB  KTC90/112

SIGHT GLASSES
804192      SIGHT GLASS,OIL,PLEXIGLASS  KT850C, KT500C, KT300C, KT150C, 850D, KT500D, KT300D, KTC55/60, KTC90/112 
805684      SIGHT GLASS  KC5,KC8,KC15

SLEEVES
054108      BEARING,SLEEVE,2-1/2  KT850C,KT850D
054109      BEARING,SLEEVE,2-1/8  KT500C,KT500D
054110      BEARING,SLEEVE,1-7/8  KT300C,KT300D
054111      BEARING,SLEEVE,1-1/4  KTC55/60,KTC90/112

SPRINGS
804567      SPRING  KC5,KC8,KC15

VALVES
066161      VALVE,DISCHARGE,ASSY,K 1-1/2  KT150,KT300,KT500,KT850,KTC55/60
066184      VALVE,INTERSTAGE,KINNEY  KTC55/60,KTC90/112
801620      VALVE,BLOCK  KC5,KC8
802146      VALVE,PLATE  KC15
802147      VALVE,BLOCK KC15
804221      VALVE,PLATE  KC5,KC8

VBELTS
051088      V-BELT, KT500, SPECIAL, 50HZ    KT300C,KT300D
051120      V-BELT, KT500  KT500C,KT500D
051122      V-BELT, KT300  KT300C,KT300D
051123      V-BELT, KT150  KT150C,KTC90/112
051153      V-BELT, KT850  KT850C,KT850D
051155      V-BELT, KTC55/60  KTC55/60



Contents Page

REV 9/15
PRICES & SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. PRECISION PLUS VACUUM PARTS IS PART OF EDWARDS VACUUM   LLC & EDWARDS GmbH

Shop Online @ PrecisionPlus.com!

KINNEY-10

Kinney




